B>k 8 4 kegik

| 280 KX 2# ST VA 9 KA BE 2%
(FeiR) PP 0-5 1:22 (Ral)
9 XK FE 1£ 10
(B3 0-4 1:03 |0-4 0:52 1-4 1:45 0-5
3 FlE B 2% SP 1—41:2411 5 R} 2%
(g I3E) (BF)
A Rk XK@ 15 1-3 6:00 VT 19 KH #FE 2F
(25) 1-4 1:28 SP (e K 7E)
ST 0-4 0:50
5 ML EXBA 2F VT VA 3 ZEIN K 24F
(NERBESE) ST VT (BT %)
6 Bl BB 2% L 14
(FET) 0-5 0:43 0-5
] T Em=E 2 1-4 2:22 ST SP | 0-4 3:46 5 =S d#& 1F
(BHET%) (FEE)
g B/ K 14 0-4 0:59 0-5 5:51 hAX Eft 2F
(R T %) SP ST (BT %)
JIIE 432 T M OB ¥ oE 2 Ik B B = E &
16 K& BEE o&F| A8 EEX 24 EN Kis o2& | #EU EAXE 2fF
(Fl) (FedR) (FET%) (WHERBEZE)
2 HiE XE 14 HHF BE 24 A& E 14 hAR EN 24
(25H) (BE2KE) (R T %) (FBTE)
3 T EE 2| t&EH I 14 FA B 24 s &3 24
(BAEEI%) (FEER) (T %) (BEF)
4% ol EE#R 24 HEAR FiE 14
(FHEI) (BEF)
(HEI)
QB Bl RAE (WERRERE)
206 RN K gRIR)
S 2R mX o
36 KHF AhE  (BEEKE)




